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Lecture plan

* Definitions and easy examples
* Finer computational metheds
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Let C be a chessboard - that is a grid made up of cells, some
chells might be shared, and they are to be considered
forbidden. For every integer k ,the k-t rook number of C

(. CCD

is the number of placing <  rooks (place holders) on C in

such away that every rows and column of C contaifgnr at most
1 rook.
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Disjoint chessboards
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Reste pelynsmial of disjeint chessboards

Roposttion I C s wmpoed @ C, ond G, disyoint
(C x) = c(C) - (G o)
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